AC Voltage and Current Signal Converter (Microprocessor base)
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Model PWBAU w3 EWBADL B ]

Isolation ___|Transformer & $ad
| Accuracy +0.4% of full scale e Version No

Temperature effect | +0.02%/C . .

Response time (0.5 sec. or less (0—+90%) S L’H&r supph;mﬁ s
Isolation resistance | 100MO min. (500Vdc) between each terminals S s e
Di-electric strength | 2000Vac 1min. {input--output 1.2~power source) t 2 e

| |=U0Nac 1min fnout 3 | 24Vdc+ 10%

| 1000Vac 1min, (output! ~output?) 4 | 110Vde=10% s
Power | AC 85~264Vac 50/60Hz i

supply | DC | 24Vdc+10%, 110Vdc 10% —*Qutput 2 (Out 2)

Power consumption | 100Vac: approx, 5VA (5.5VA) Code Range
(PWBPD connection) | 200Vac: approx. 7.5V (8VA) A 1=BYde

24Vdc: approx. 120mA (140ma) _H | 4~20mAdc

ot 1 10Vdc: approx. 50mA (S5mA) |V | Communication (R5485)
Ambient temﬁEfEltere -5~ 4551 I ¥ | Without

| and humidity | B0%RH or less [no condensation) ! —+Q0utput 1 (Out 1)

*1Input | AC voltage |0—110V 0~ 150V Input signal . Code _Range
_____ signal | AC current | 0~1A  D~BA Code Range | A | 1~5Vdc &Y
Cutput 1 | DC voltage | 0~5v O—-10V  1~BY P 01§ 0~1Aac B | 0~5Vdc

Qut1) | [(IkOmin)(2kOmin) (tkAmin) | |05 [D~Bhac _.C_|0~10Vdc

(Load | DC current |0~20mA 4~20mA %3 11 |0~110Vac H | 4~-20mAdc

resistance) | 1 T500max) (T500max) 15 | 0~150Vac P | 0~20mAdc

Output 2 | = Ine, T -

{Guﬁl lEm e ?f"éaﬂﬁag Haus Ool2cHe Mgamn0 g,
(Load (& [OCowent |4~20mA (3500max) DVIRRE XAN H&0l ABoe B2, 2

resistance) | Communication | RS485 : o 158 HEBH FaMR

Zero adjustable range | approx. —5%~ +5% (by loader)

| Span adjustable range

approx. 95%~105% (by loader)

Mass lweight]

| approx. 150g

*1. BIRE 5%0L 2

M= 0%E &8

*2: PC loader® B3 = (DCO~5V++DCO~10V—+DC1~5V)
HE typel 2 HAR & S

*3: PC loader=s i3

JbE (DCO-20mA+«DC4~20mA)

HE typeC 2 BE & g=
*4. Address= PC loaderE &3S




